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Under the topic Arithmetic and reasonong, students of Tara Government College

Sangareddy joined the session of Area and Volume. The class started on 14 May 2020.
Ninety four students attended from various groups. The trainer was Sri N.V. Ramana,
TSKC mentor. After delving out importance of the topic in various competitive
examinations, he showed how questions are asked on the topic. He then, slowly bring

home the main concept on Area and Volume. He gave assignments to students.

QUANTITATIVE ABILITY - LEVEL A [Compatibility Mode] - PowerPoint P — . = = a x |
Insert  Design  Transitions  Animations  SlideShow  Record  Review  View  Help Q  Tell me what you want to do 5, Share |
- % =] Eltayout - : | N O » P Find
e (EE | EEE A ' BNNOOO[ G E o
Eg ~ 127 Reset - ALLd - 28 Replace ~
oy s:;‘;”~ S e : BNA P F| [ Select ~
Clipboard 15 Slides Font Paragraph Drawing Editing s
o GET GENUINE OFFICE Your license isn't genuine, and you may be a victim of software counterfeiting. Avoid interruption and keep your files safe with genuine Office today. Get genuine Office Learn more x
o S T T e P T e e e T T r
==
= 3
. Are3 and Volume
113 3
Z
B A circular wire of radius 42 cm is bent in the
- z form of a rectangle whose sides are in the ratio
5
S : of 6:5. Find the smaller side of the rectangle?
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Area and Volume
17

Solution:
Breadth =X
Length =2X
Area =2X*X=2X?
Perimeter
6X =300m
X =50m
Area = 2x2 =2*50*50
Area = 5000 sq.m.
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